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INPUT x, y 
IF y<=3-x*x THEN 
  IF y>=0 THEN 
    IF y>=x+1 THEN 
      PRINT " " 
    ELSE 
      PRINT "  " 
    END IF 
  END IF 
END IF 
END 

 

var x,y: real; 
begin 
  readln(x,y); 
  if y<=3-x*x then 
    if y>=0 then 
      if y>=x+1 then 
        write(' ') 
      else 
        write('  ') 
end. 
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void main(void){ 
  float x,y; 
  scanf("%f %f",&x,&y); 
  if (y<=3-x*x) 
    if (y>=0) 
      if (y>=x+1) 
        printf(" "); 
      else 
        printf("  "); 
} 
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2.   ( ):  
if (y<=3-x*x) and ((y>=x+1) or ((x>=0) and (y>=0))) 

then write(' ') 
else write('  ') 

    . 
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const 
N=30; 

var 
a: array [1..N] of integer; 
i, j, k: integer; 

begin 
for i:=1 to N do  

readln(a[i]); 
… 

end. 

 

N=30 
DIM A(N) AS INTEGER 
DIM I, J, K AS INTEGER 
FOR I = 1 TO N  

INPUT A(I) 
NEXT I 
… 
 
END 
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#include <stdio.h> 
#define N 30 
void main(void){ 

int a[N]; 
int i, j, k; 
for (i=0; i<N; i++) 

scanf("%d", &a[i]); 
… 

} 
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 a[1:N] 
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  i  1  N 

 a[i] 
 

… 
 

   

  A  30 . 
   I, J, K. 

   1  30   
 A  1-   30- . 

… 

 

        (  

    ),   

   .      

    (     

  , , Free Pascal 2.4)    

- .          

   ,      

( ,  ,    ). 

. 11 .  1-2 

©  2012 .          

  

8

 

       

(    ,    

) 

   
 
k:=0; 
for i:=1 to N do begin 

if (a[i] mod 3=0) and (a[i] mod 10=1) then k:=k+1; 
end; 
writeln(k); 

 

   
K = 0 
FOR I = 1 TO N 

IF A(I) MOD 3=0 AND  A(I) MOD 10=1 THEN  
K = K + 1 

END IF 
NEXT I 
PRINT K 

   
k=0; 
for (i=0; i<N; i++) { 

if (a[i]%3==0 && a[i]%10==1) ++k; 
} 
printf("%d", k); 
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     ,  

        30. 

  : 

1.  n    3,   R(n) = R(t(n)),   

    n  t(n) – 

 . 

2.  n   3. 

   R(n) = R(n/3)+R(n-2)= R(n/3)+R(n-6) (  n>6). 

 n=6 : R(n) = 2 (  :    

    3). 

      R(n)   

 ,      62. 

: 

R(2)= R(4)=1 

R(6) = 2 = R(8)=R(10) 

R(12) = R(4)+R(6) =1+2 = 3 = R(14)=R(16) 

R(18) = R(6)+R(12) =2+3 =5  = R(20)=R(22) 

R(24) = R(8)+R(18) = 2+5 = 7 = R(26)=R(28) 

R(30) = R(10)+R(24) =2+7 =9  = R(32)=R(34) 

R(36) = R(12)+R(30) = 3+9 = 12 = R(38)=R(40) 
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R(42) = R(14)+R(36) = 3+12 = 15  = R(44)=R(46) 

R(48) = R(16)+R(42) = 3+ 15 = 18 = R(50)=R(52) 

R(54) = R(18)+R(48) = 5 + 18 = 23  = R(56)=R(58) 

R(60) = R(20)+R(54) = 5 + 23 = 28  = R(62) 
 

: 28 
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       : 
program c4_dates; 
const 
  month_in: array[1..12] of string = ( 
    ' ', ' ', ' ', 
    ' ', ' ', ' ', 
    ' ', ' ', ' ', 
    ' ', ' ', ' ' 
  );     
  month_out: array[1..12] of string = ( 
    ' ', ' ', ' ', 
    ' ', ' ', ' ', 
    ' ', ' ', ' ', 
    ' ', ' ', ' ' 
  );     
var 
  N: integer; 
  count: array[1..12] of integer; 
  i,j,k: integer; 
  line, month: string; 
  max: integer; 
  imax: integer; 
begin 
  readln(N); 
  for j:=1 to 12 do count[j]:=0; 
  for i:=1 to N do begin 
    readln(line); 
    k:=length(line); 
    while line[k]<>' ' do k:=k-1; 
    month:=copy(line,k+1,length(line)-k); 
    j:=1; 
    while month_in[j]<>month do j:=j+1; 
    count[j]:=count[j]+1; 
  end; 
  repeat 
    imax:=1; max:=count[1]; 
    for i:=2 to 12 do begin 
      if count[i]>max then begin 
        imax:=i; max:=count[i]; 
      end; 
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    end; 
    if max>0 then begin 
      writeln(month_out[imax],' ',max); 
      count[imax]:=0; 
    end; 
  until max=0; 
end.     
 

      

 : 
 c4dates 
 

   _ [1:12], _ [1:12] 
   ,  
   N 
   i,j,k 
   mx, imx 
   [1:12] 
  _ [1]:=" " 
  _ [2]:=" " 
  _ [3]:=" " 
  _ [4]:=" " 
  _ [5]:=" " 
  _ [6]:=" " 
  _ [7]:=" " 
  _ [8]:=" " 
  _ [9]:=" " 
  _ [10]:=" " 
  _ [11]:=" " 
  _ [12]:=" " 
    i  1  12 
    := _ [i] 
    k:= ( ) 
      
        [k]=' ': := [1:k-1] 
        [k-1]=' ': [k]:=' ' 
        [k]=' ': [k]:=' ' 
     
    _ [i]:=  
   
    i  1  12 
    [i]:=0 
   
   N 
    i  1  N 
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    k:= ( ) 
      [k]<>' ' 
      k:=k-1 
     
    := [k+1: ( )] 
      j  1  12 
       = _ [j] 
         [j]:= [j]+1 
            
       
     
   
    
    mx:= [1]; imx:=1 
      i  2  12 
       [i]>mx 
       mx:= [i] 
        imx:=i 
       
      
     mx>0 
        , _ [imx], " ", mx 
         [imx]:=0 
     
    mx=0 

 

       : 
DATA , , , , ,  
DATA , , , , ,  
DATA , , , , ,  
DATA , , , , ,  
DIM monthin$(12), monthout$(12) 
FOR i = 1 TO 12 
 READ monthin$(i) 
NEXT i 
FOR i = 1 TO 12 
 READ monthout$(i) 
NEXT i 
 
DIM count(12) AS INTEGER 
INPUT N 
FOR i = 1 TO 12 
 count(j) = 0 
NEXT i 
FOR i = 1 TO N 
 LINE INPUT line$ 
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 k = LEN(line$) 
 WHILE line$(k) <> " " 
  k = k - 1 
 WEND 
 month$ = MID$(line$, k + 1) 
 j = 1 
 WHILE monthin$(j) <> month$ 
  j = j + 1 
 WEND 
 count(j) = count(j) + 1 
NEXT i 
DO 
 imax = 1: max = count(1) 
 FOR i = 2 TO 12 
  IF count(i) > max THEN 
   imax = i: max = count(i) 
  END IF 
 NEXT i 
 IF max > 0 THEN 
  PRINT monthout(imax); " "; max 
  count(imax) = 0 
 END IF 
LOOP UNTIL max = 0 

 

       Perl: 
%mnum = ( 
 ' ' => 0, 
 ' ' => 1, 
 ' ' => 2, 
 ' ' => 3, 
 ' ' => 4, 
 ' ' => 5, 
 ' ' => 6, 
 ' ' => 7, 
 ' ' => 8, 
 ' ' => 9, 
 ' ' => 10, 
 ' ' => 11 
); 
@mname = ( 
    ' ', ' ', ' ', 
    ' ', ' ', ' ', 
    ' ', ' ', ' ', 
    ' ', ' ', ' ' 
); 
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$n = <>; 
while ($n--) { 
 $line = <>; 
 ($month) = $line =~ /(\S*)$/; 
 ++$count{$month}; 
} 
for (sort 

{$count{$b}<=>$count{$a} || $mnum{$a}<=>$mnum{$b}} 
keys %count) 

{ 
 last if $count{$_}==0; 
 print "$mname[$mnum{$_}] $count{$_}\n"; 
} 
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